



San Antonio Water System

Solicitation Vendor Price List

Vendor Name	Total Amount
CO-00187 - 1_D GUERRA CONSTRUCTION LLC	\$3,435,378.28
CO-00187 - 5_HARPER BROTHERS CONST LLC	\$3,549,631.98
CO-00187 - 3_WAUTERS ENGINEERING LLC	\$3,684,583.88
CO-00187 - 2_PESADO CONSTRUCTION CO INC	\$3,792,729.45
CO-00187 - 4_QRO MEX CONSTRUCTIONS INC	\$3,865,931.26
CO-00187 - 6_S J LOUIS CONS OF TX LTD LLP	\$3,941,561.69



Prepared By: Roxanne Lockhart Solicitation No: CO-00187 Job #: 17-2503

Contract No : CO-00187

SAN ANTONIO WATER SYSTEM
PO Box :2994
San Antonio,Texas, 78298-2449
TABULATION OF BIDS

Proposal : Lift Station #251 Elimination
Time And Date : 10:00AM on May 31, 2019

						CO-00187 - 1_D GUERRA CONSTRUCTION LLC			CO-00187 - :	2_PESADO C CO INC		CO-00187 -	0187 - 3_WAUTERS ENGINEERING LLC			O-00187 - 4_QRO MEX CONSTRUCTIONS INC		CO-00187	- 5_HARPE CONST LI	R BROTHERS LC	CO-00187 -	6_S J LOUIS LTD LLP	S CONS OF TX
Line No	Item No	Quote Category	SOV Item	Item Description	Unit	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount
1	104.1	General Sanitary Sewer Bid Items		STREET EXCAVATION	CY	\$30.00	196	\$5,880.00	\$16.00	196	\$3,136.00	\$23.00	196	\$4,508.00	\$35.00	196	\$6,860.00	\$60.00	196	\$11,760.00	\$85.00	196	\$16,660.0
2	203.1	General Sanitary Sewer Bid Items		TACK COAT	GAL	\$5.00	553	\$2,765.00	\$1.00	553	\$553.00	\$4.00	553	\$2,212.00	\$7.00	553	\$3,871.00	\$5.00	553	\$2,765.00	\$3.30	553	\$1,824.9
3	205.2	General Sanitary Sewer Bid Items		HOT MIX ASPHALTIC PAVEMENT, TYPE C (3" COMP DEPTH)	SY	\$15.00	5,489	\$82,335.00	\$16.00	5,489	\$87,824.00	\$14.10	5,489	\$77,394.90	\$18.00	5,489	\$98,802.00	\$18.00	5,489	\$98,802.00	\$13.90	5,489	\$76,297.1
4	205.3	General Sanitary Sewer Bid Items		HOT MIX ASPHALTIC PAVEMENT, TYPE B (10° COMP DEPTH)	SY	\$70.00	1,196	\$83,720.00	\$120.00	1,196	\$143,520.00	\$63.70	1,196	\$76,185.20	\$95.00	1,196	\$113,620.00	\$75.00	1,196	\$89,700.00	\$77.00	1,196	\$92,092.0
5	208.1	General Sanitary Sewer Bid Items		SALVAGE, HAULING & STOCKPILING RECLAIMED ACP (3" DEPTH)	SY	\$7.00	5,489	\$38,423.00	\$4.00	5,489	\$21,956.00	\$6.50	5,489	\$35,678.50	\$7.00	5,489	\$38,423.00	\$4.00	5,489	\$21,956.00	\$3.09	5,489	\$16,961.0
6	413.1	General Sanitary Sewer Bid Items		FLOWABLE FILL (LOW STRENGTH)	CY	\$130.00	5,477	\$712,010.00	\$132.00	5,477	\$722,964.00	\$120.00	5,477	\$657,240.00	\$140.00	5,477	\$766,780.00	\$98.00	5,477	\$536,746.00	\$92.00	5,477	\$503,884.0
7	503.2	General Sanitary Sewer Bid Items		PORTLAND CEMENT CONCRETE DRIVEWAY - COMMERCIAL	SY	\$100.00	82	\$8,200.00	\$280.00	82	\$22,960.00	\$91.00	82	\$7,462.00	\$80.00	82	\$6,560.00	\$110.00	82	\$9,020.00	\$110.00	82	\$9,020.0
8	507.3	General Sanitary Sewer Bid Items		CHAINLINK WIRE FENCE (8' HIGH)	LF	\$70.00	170	\$11,900.00	\$75.00	170	\$12,750.00	\$80.00	170	\$13,600.00	\$80.00	170	\$13,600.00	\$70.00	170	\$11,900.00	\$70.50	170	\$11,985.0
9	507.5	General Sanitary Sewer Bid Items		GATES - VEHICULAR (DOUBLE LEAF SWING GATE) (16' OPENING)	EA	\$2,000.00	1	\$2,000.00	\$1,750.00	1	\$1,750.00	\$1,818.00	1	\$1,818.00	\$3,000.00) 1	\$3,000.00	\$1,600.00	1	\$1,600.00	\$3,350.00	1	\$3,350.0
10	507.6	General Sanitary Sewer Bid Items		GATES - VEHICULAR - TYPE 1 (16' OPENING)	EA	\$2,500.00	3	\$7,500.00	\$2,750.00	3	\$8,250.00	\$947.00	3	\$2,841.00	\$3,000.00	3	\$9,000.00	\$2,500.00	3	\$7,500.00	\$1,300.00	3	\$3,900.0
11	508.1	General Sanitary Sewer Bid Items		RELOCATING WIRE FENCE	LF	\$30.00	184	\$5,520.00	\$35.00	184	\$6,440.00	\$33.00	184	\$6,072.00	\$30.00	184	\$5,520.00	\$29.00	184	\$5,336.00	\$18.00	184	\$3,312.0
12	515.1	General Sanitary Sewer Bid Items		TOPSOIL	CY	\$33.00	1,610	\$53,130.00	\$25.00	1,610	\$40,250.00	\$25.00	1,610	\$40,250.00	\$25.00	1,610	\$40,250.00	\$37.00	1,610	\$59,570.00	\$24.25	1,610	\$39,042.5
13	520.1	General Sanitary Sewer Bid Items		HYDROMULCHING (RESIDENTIAL OR COMMERCIAL)	SY	\$1.00	12,716	\$12,716.00	\$2.00	12,716	\$25,432.00	\$1.70	12,716	\$21,617.20	\$1.00	12,716	\$12,716.00	\$0.50	12,716	\$6,358.00	\$0.28	12,716	\$3,560.4
14	520.2	General Sanitary Sewer Bid Items		DRILL SEEDING (NATIVE MIX) (PERMANENT)	SY	\$1.50	930	\$1,395.00	\$1.00	930	\$930.00	\$6.82	930	\$6,342.60	\$4.00	930	\$3,720.00	\$0.25	930	\$232.50	\$2.00	930	\$1,860.0
15	525.1	General Sanitary Sewer Bid Items		PORT CTB (FUR & INST)(F-SHAPE)(TYPE I)	LF	\$65.00	1,400	\$91,000.00	\$80.00	1,400	\$112,000.00	\$65.00	1,400	\$91,000.00	\$40.00	1,400	\$56,000.00	\$7.00	1,400	\$9,800.00	\$77.00	1,400	\$107,800.0
16	525.2	General Sanitary Sewer Bid Items		PORT CTB (MOVE)(F-SHAPE)(TYPE I)	LF	\$10.00	2,800	\$28,000.00	\$19.00	2,800	\$53,200.00	\$65.00	2,800	\$182,000.00	\$27.00	2,800	\$75,600.00	\$8.00	2,800	\$22,400.00	\$23.00	2,800	\$64,400.0
17	525.3	General Sanitary Sewer Bid Items		PORT CTB (REMOVE)(F-SHAPE)(TYPE I)	LF	\$15.00	1,400	\$21,000.00	\$8.00	1,400	\$11,200.00	\$65.00	1,400	\$91,000.00	\$40.00	1,400	\$56,000.00	\$9.00	1,400	\$12,600.00	\$50.50	1,400	\$70,700.0
18	530.1	General Sanitary Sewer Bid Items		TRAFFIC HANDLING AND BARRICADES	LS	\$30,000.00	1	\$30,000.00	\$350,000.00	1	\$350,000.00	\$73,864.00	1	\$73,864.00	\$75,000.00	1	\$75,000.00	\$47,000.00	1	\$47,000.00	\$115,000.00	1	\$115,000.0
19	550	General Sanitary Sewer Bid Items		TRENCH EXCAVATION SAFETY PROTECTION (ALL DEPTHS)	LF	\$10.00	5,477	\$54,772.70	\$2.00	5,477	\$10,954.54	\$23.00	5,477	\$125,977.21	\$8.00	5,477	\$43,818.16	\$1.00	5,477	\$5,477.27	\$0.01	5,477	\$54.7
20	681.1	General Sanitary Sewer Bid Items		TEMPORARY TRAFFIC SIGNALS (PER INTERSECTION)	EA	\$1,500.00	8	\$12,000.00	\$2,750.00	8	\$22,000.00	\$7,500.00	8	\$60,000.00	\$16,000.00	8	\$128,000.00	\$4,500.00	8	\$36,000.00	\$3,200.00	8	\$25,600.0
21	848.1A	General Sanitary Sewer Bid Items		18-INCH (ASTM F-679 T-1) PVC SANITARY SEWER (6'-10')	LF	\$190.00	1,070	\$203,244.90	\$88.00	1,070	\$94,134.48	\$91.00	1,070	\$97,343.61	\$95.00	1,070	\$101,622.45	\$230.00	1,070	\$246,033.30	\$273.47	1,070	\$292,533.5



Prepared By: Roxanne Lockhart Solicitation No: CO-00187 Job #: 17-2503

Contract No : CO-00187

SAN ANTONIO WATER SYSTEM
PO Box :2994
San Antonio,Texas, 78298-2449
TABULATION OF BIDS

Proposal : Lift Station #251 Elimination
Time And Date : 10:00AM on May 31, 2019

					CO-00187 - 1_D GUERRA CONSTRUCTION LLC				2_PESADO (CO INC	CONSTRUCTION	CO-00187 - :	3_WAUTERS LLC	ENGINEERING		00187 - 4_QR NSTRUCTION		CO-00187	- 5_HARPE CONST L	R BROTHERS LC	IERS CO-00187 - 6_S J LOUIS COP LTD LLP		
Line No	Item No	Quote Category	SOV Item Item Description	Unit	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount
22	848.1A	General Sanitary Sewer Bid Items	18-INCH (ASTM F-679 T-1) PVC SANITARY SEWER (10'-14')	LF	\$200.00	492	\$98,470.00	\$96.00	492	\$47,265.60	\$129.00	492	\$63,513.15	\$110.00	492	\$54,158.50	\$230.00	492	\$113,240.50	\$273.47	492	\$134,642.95
23	848.1A	General Sanitary Sewer Bid Items	18-INCH (ASTM F-679 T-1) PVC SANITARY SEWER (14'-18')	LF	\$205.00	797	\$163,460.85	\$100.00	797	\$79,737.00	\$148.00	797	\$118,010.76	\$130.00	797	\$103,658.10	\$230.00	797	\$183,395.10	\$273.47	797	\$218,056.77
24	848.1A	General Sanitary Sewer Bid Items	18-INCH (ASTM F-679 T-1) PVC SANITARY SEWER (18-22)	LF	\$210.00	398	\$83,548.50	\$160.00	398	\$63,656.00	\$225.00	398	\$89,516.25	\$140.00	398	\$55,699.00	\$230.00	398	\$91,505.50	\$273.47	398	\$108,800.04
25	848.1A	General Sanitary Sewer Bid Items	18-INCH (ASTM F-679 T-1) PVC SANITARY SEWER (22'-26')	LF	\$215.00	118	\$25,417.30	\$210.00	118	\$24,826.20	\$322.00	118	\$38,066.84	\$160.00	118	\$18,915.20	\$230.00	118	\$27,190.60	\$273.47	118	\$32,329.62
26	848.1A	General Sanitary Sewer Bid Items	24-INCH (ASTM F-679 T-1) PVC SANITARY SEWER (14'-18')	LF	\$220.00	401	\$88,327.80	\$122.00	401	\$48,981.78	\$171.00	401	\$68,654.79	\$155.00	401	\$62,230.95	\$250.00	401	\$100,372.50	\$293.20	401	\$117,716.87
27	848.1A	General Sanitary Sewer Bid Items	24-INCH (ASTM F-679 T-1) PVC SANITARY SEWER (18'-22')	LF	\$225.00	1,644	\$369,960.75	\$178.00	1,644	\$292,680.06	\$248.00	1,644	\$407,778.96	\$165.00	1,644	\$271,304.55	\$250.00	1,644	\$411,067.50	\$293.20	1,644	\$482,099.96
28	848.1A	General Sanitary Sewer Bid Items	24-INCH (ASTM F-679 T-1) PVC SANITARY SEWER (22'-26')	LF	\$240.00	556	\$133,442.40	\$235.00	556	\$130,662.35	\$344.00	556	\$191,267.44	\$180.00	556	\$100,081.80	\$250.00	556	\$139,002.50	\$293.20	556	\$163,022.13
29	848.1B	General Sanitary Sewer Bid Items	PVC SANITARY SEWER TESTING AND ACCEPTANCE	LS	\$5,500.00	1	\$5,500.00	\$17,000.00	1	\$17,000.00	\$15,047.00	1	\$15,047.00	\$40,000.00	1	\$40,000.00	\$12,000.00	1	\$12,000.00	\$12,000.00	1	\$12,000.00
30	848.4	General Sanitary Sewer Bid Items	UTELITY POTHOLE (UTELITY VERIFICATION TEST HOLE) (5-12 DEPTH) INCLUSIVE OF VACUUM EXCAVATION, TRAFFIC CONTROL, SURVEYING, COORDINATION WITH UTILITY OWNER, PERMIT, AND	EA	\$2,500.00	7	\$17,500.00	\$850.00	7	\$5,950.00	\$3,409.00	7	\$23,863.00	\$5,000.00	7	\$35,000.00	\$1,100.00	7	\$7,700.00	\$1,000.00	7	\$7,000.00
31	852.1	General Sanitary Sewer Bid Items	SANITARY SEWER MANHOLE (4' DIAMETER) (0'-6')	EA	\$8,600.00	19	\$163,400.00	\$9,500.00	19	\$180,500.00	\$7,996.00	19	\$151,924.00	\$12,000.00	19	\$228,000.00	\$10,500.00	19	\$199,500.00	\$6,250.00	19	\$118,750.00
32	852.1	General Sanitary Sewer Bid Items	SANITARY SEWER DROP MANHOLE (4' DIAMETER) (0'-6')	EA	\$11,700.00	1	\$11,700.00	\$23,000.00	1	\$23,000.00	\$9,120.00	1	\$9,120.00	\$15,000.00	1	\$15,000.00	\$11,000.00	1	\$11,000.00	\$6,500.00	1	\$6,500.00
33	852.2	General Sanitary Sewer Bid Items	EXTRA DEPTH MANHOLES (4' DIAMETER) (> 6')	VF	\$500.00	229	\$114,510.00	\$630.00	229	\$144,282.60	\$443.00	229	\$101,455.86	\$600.00	229	\$137,412.00	\$322.00	229	\$73,744.44	\$253.00	229	\$57,942.06
34	852.4	General Sanitary Sewer Bid Items	SANITARY SEWER MANHOLE TESTING AND ACCEPTANCE	LS	\$10,000.00	1	\$10,000.00	\$15,000.00	1	\$15,000.00	\$9,091.00	1	\$9,091.00	\$40,000.00	1	\$40,000.00	\$7,500.00	1	\$7,500.00	\$2,000.00	1	\$2,000.00
35	856.1	General Sanitary Sewer Bid Items	JACKING, BORING, OR TUNNELING 36*	LF	\$580.00	165	\$95,700.00	\$680.00	165	\$112,200.00	\$432.00	165	\$71,280.00	\$440.00	165	\$72,600.00	\$635.00	165	\$104,775.00	\$622.00	165	\$102,630.00
36	856.1	General Sanitary Sewer Bid Items	JACKING, BORING, OR TUNNELING 42*	LF	\$680.00	140	\$95,200.00	\$820.00	140	\$114,800.00	\$511.00	140	\$71,540.00	\$480.00	140	\$67,200.00	\$770.00	140	\$107,800.00	\$729.00	140	\$102,060.00
37	856.2	General Sanitary Sewer Bid Items	18° CARRIER PIPE FOR JACKING, BORING OR TUNNELING	LF	\$77.00	165	\$12,705.00	\$58.00	165	\$9,570.00	\$104.00	165	\$17,160.00	\$120.00	165	\$19,800.00	\$125.00	165	\$20,625.00	\$320.77	165	\$52,927.05
38	856.2	General Sanitary Sewer Bid Items	24" CARRIER PIPE FOR JACKING, BORING OR TUNNELING	LF	\$91.00	140	\$12,740.00	\$56.00	140	\$7,840.00	\$144.00	140	\$20,160.00	\$175.00	140	\$24,500.00	\$200.00	140	\$28,000.00	\$349.04	140	\$48,865.60
39	856.3	General Sanitary Sewer Bid Items	CASING 36-INCH (STL) (0.438" THICKNESS) (INSTALLED IN BORE)	LF	\$135.00	165	\$22,275.00	\$114.00	165	\$18,810.00	\$235.00	165	\$38,775.00	\$292.00	165	\$48,180.00	\$133.00	165	\$21,945.00	\$90.00	165	\$14,850.00
40	856.3	General Sanitary Sewer Bid Items	CASING 42-INCH (STL) (0.5" THICKNESS) (INSTALLED IN BORE)	LF	\$172.00	140	\$24,080.00	\$146.00	140	\$20,440.00	\$262.00	140	\$36,680.00	\$360.00	140	\$50,400.00	\$173.00	140	\$24,220.00	\$130.00	140	\$18,200.00
41	858	General Sanitary Sewer Bid Items	CONCRETE ENCASEMENT, CRADLES, SADDLES, AND COLLARS	CY	\$300.00	10	\$3,120.00	\$275.00	10	\$2,860.00	\$192.00	10	\$1,996.80	\$600.00	10	\$6,240.00	\$500.00	10	\$5,200.00	\$110.00	10	\$1,144.00
42	864	General Sanitary Sewer Bid Items	BYPASS PUMPING (2 LOCATIONS)	LS	\$30,000.00	1	\$30,000.00	\$140,000.00	1	\$140,000.00	\$50,000.00	1	\$50,000.00	\$180,000.00	1	\$180,000.00	\$32,000.00	1	\$32,000.00	\$70,000.00	1	\$70,000.00

Run Date 06/14/2019

Prepared By : Roxanne Lockhart Solicitation No : CO-00187 Job #: 17-2503

Contract No : CO-00187 SAN ANTONIO WATER SYSTEM PO Box :2994 San Antonio,Texas, 78298-2449 TABULATION OF BIDS

Proposal : Lift Station #251 Elimination Time And Date: 10:00AM on May 31, 2019

								- 1_D GUERRA C		CO-00187 - 2_PESADO CONSTRUCTION CO INC			CO-00187 - 3_WAUTERS ENGINEERING LLC			CO-00187 - 4_QRO MEX CONSTRUCTIONS INC			' - 5_HARPE CONST L	R BROTHERS LC	CO-00187 - 6_S J LOUIS CONS OF TX LTD LLP			
Line No	Item No	Quote Category	SOV Item	Item Description	Unit	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	
43	866.2	General Sanitary Sewer Bid Items		POST CONSTRUCTION SEWER MAIN TELEVISION INSPECTION (18" - 24")	LF	\$4.00	5,782	\$23,129.00	81.25	5,782	\$7,227.84	\$3.00	5,782	\$17,346.81	\$6.85	5,782	\$39,608.55	\$1.00	5,782	\$5,782.27	\$1.00	5,782	\$5,782.2	
44	1005.2	General Sanitary Sewer Bid Items		LS 251 (SOLANA RIDGE) LIFT STATION ELIMINATION	LS	\$45,000.00	1	\$45,000.00	\$45,000.00	1	\$45,000.00	\$54,830.00	1	\$54,830.00	\$110,000.00	1	\$110,000.00	\$70,000.00	1	\$70,000.00	\$75,000.00	1	\$75,000.0	
45	SP 540	General Sanitary Sewer Bid Items		SWPPP PREPARATION AND IMPLEMENTATION	LS	\$15,000.00	1	\$15,000.00	\$10,000.00	1	\$10,000.00	\$20,966.00	1	\$20,966.00	\$45,000.00	1	\$45,000.00	\$50,000.00	1	\$50,000.00	\$16,325.00	1	\$16,325.0	
46	1550	General Sanitary Sewer Bid Items		TEMPORARY FENCING	LF	\$20.00	184	\$3,680.00	\$4.00	184	\$736.00	\$34.00	184	\$6,256.00	\$20.00	184	\$3,680.00	\$15.00	184	\$2,760.00	\$10.00	184	\$1,840.0	
47	SP100	General Sanitary Sewer Bid Items		INTERMEDIATE DEMOBILIZE AND REMOBILIZATION (OPEN CUT)	LS	\$15,000.00	1	\$15,000.00	\$5,000.00	1	\$5,000.00	\$10,000.00	1	\$10,000.00	\$30,000.00	1	\$30,000.00	\$4,750.00	1	\$4,750.00	\$10,000.00	1	\$10,000.0	
48	SP100	General Sanitary Sewer Bid Items		INTERMEDIATE DEMOBILIZE AND REMOBILIZATION (TRENCHLESS)	LS	\$15,000.00	1	\$15,000.00	\$5,000.00	1	\$5,000.00	\$5,000.00	1	\$5,000.00	\$20,000.00	1	\$20,000.00	\$5,000.00	1	\$5,000.00	\$5,000.00	1	\$5,000.0	
49	SP100	General Sanitary Sewer Bid Items		INTERMEDIATE DEMOBILIZE AND REMOBILIZATION, BYPASS PUMPING EQUIP. RENTAL	MD	\$2,000.00	10	\$20,000.00	\$250.00	10	\$2,500.00	\$1,000.00	10	\$10,000.00	\$1,750.00	10	\$17,500.00	\$1,000.00	10	\$10,000.00	\$2,024.00	10	\$20,240.0	
50	SP100	General Sanitary Sewer Bid Items		INTERMEDIATE DEMOBILIZE AND REMOBILIZATION, PUMPING FUEL	MD	\$500.00	10	\$5,000.00	\$250.00	10	\$2,500.00	\$1,000.00	10	\$10,000.00	\$1,250.00	10	\$12,500.00	\$200.00	10	\$2,000.00	\$900.00	10	\$9,000.0	
51	SP100	General Sanitary Sewer Bid Items		INTERMEDIATE DEMOBILIZE AND REMOBILIZATION, PUMPING WATCH	MD	\$500.00	10	\$5,000.00	\$250.00	10	\$2,500.00	\$1,000.00	10	\$10,000.00	\$850.00	10	\$8,500.00	\$500.00	10	\$5,000.00	\$1,200.00	10	\$12,000.0	
52	100	General Sanitary Sewer Bid Items		MOBILIZATION (MAXIMUM OF 10% OF THE TOTAL OF LINE ITEMS (1 - 49))	LS	\$160,000.00	1	\$160,000.00	\$325,000.00	1	\$325,000.00	\$230,878.00	1	\$230,878.00	\$160,000.00	1	\$160,000.00	\$290,000.00	1	\$290,000.00	\$295,000.00	1	\$295,000.0	
53	101	General Sanitary Sewer Bid Items		PREPARING RIGHT OF WAY (MAXIMUM OF 5% OF THE TOTAL OF LINE ITEMS (1 - 49))	LS	\$80,000.00	1	\$80,000.00	\$135,000.00	1	\$135,000.00	\$40,000.00	1	\$40,000.00	\$130,000.00	1	\$130,000.00	\$140,000.00	1	\$140,000.00	\$160,000.00	1	\$160,000.0	
					Total			\$3,435,378.2	В		\$3,792,729.45			\$3,684,583.88			\$3,865,931.26			\$3,549,631.98			\$3,941,561.6	
Calendar Days To	Complete :		240																					